% 5 6 [q
LR AYT
T EFEERE) —J 8 (125
BB M 7% 1A198(H)
£ 15 WImRAR—YtE 42—

BF1E O) &% EHIIT—A
* 1 2 3 4 5
[1:20—F] |BHIST-A|JOYKM-A|7—FLR—A|/\IB/IPTA-A|FESST—A| BR N sz
1| BEHIZT—A 3-1 3-2 3-1 3-0 8 1
2|JOY K -A 1-3 3-1 3-2 3-1 7 2
3| 7—hLR—A 2-3 1-3 3-2 3-0 6 3
4| J\IE/INPTA-A 1-3 2-3 2-3 3-0 9] 4
5|FEITT—A 0-3 1-3 0-3 0-3 4 5
BF1E @ 1 FSC
* 6 7 8 9 10
[3-43—F] FSC |A1¥o4—A|JFsitiim—a| TEH R | #KOB B I fiz
*6|FSC 3-0 3-2 3-0 3-0 8 1
AT —A 0-3 2-3 3-1 3-0 6 3
s|JFSHERZ—A| 2-3 3-2 3-0 3-1 7 2
IREAR 0-3 1-3 0-3 3-1 5 4
10| AOB 0-3 0-3 1-3 1-3 4 5




£ 3

£ 3

*

BF28 @ & EHIS5T—C
* 1 2 3 4 5
[5:6a—K] | RAT94Th | Mt&Field |mizt—vsoamos| i8HS5T—B|EHIST—C| @R (43
1| X142k 1-3 3-0 3-0 2-3 6 2
2|Mt&Field 3-1 3-0 1-3 0-3 6 3
slmnxg—vpsmos|  0-3 0-3 2-3 0-3 4 5
4| FiIRV 57 —B 0-3 3-1 3-2 0-3 6 4
s|8%HVU>7—C 3-2 3-0 3-0 3-0 8 1
BF21p @ &5 R—rX
* 6 7 8 9
[7:82a—K] |JoYKRM—C| FR—2 X |=Rems5T|#EIST—E| BR I 2
6|JOYKIM—C 2-3 3-0 3-0 5 2
IIR—2X 3-2 3-2 3-1 6 1
8| —{REERKYST 0-3 2-3 3-2 4 3
o|FTIEVZT—E 0-3 1-3 2-3 3 4
BF38 @® & THINK—A
*1 2 3 4 5
[9:10 2—F] |EHYST—B|25U)L—B|REIFT—A|JOYKM—B| THINK—A| #B= N sz
11&8HI757—8 3-0 3-1 3-2 0-3 7 2
2IS57)L—B 0-3 3-1 2-3 1-3 9] 4
BBV TT—A 1-3 1-3 1-3 0-3 4 )
4|JOY KiM—B 2-3 3-2 3-1 0-3 6 3
5| THINK—A 3-0 3-1 3-0 3-0 8 1




BF3E @ & AXT—B

* 6 7 8 9 10
[ 1112 O—R) | XBHA5—F—A| A5 —B| A7 X1l | JFSHER 2—C|BOSS DACO =R =R ivd
* 6| KEFWAT—F—A 1-3 0-3 1-3 1-3 4 )
1A —B| 3-1 3-1 3-2 3-0 8 1
8|47 AT 3-0 1-3 3-1 3-1 7 2
o JFSHEATB—C|  3-1 2-3 1-3 3-1 6 3
10{[BOSS DACO 3-1 0-3 1-3 1-3 9] 4
BF3H ©) &= JFStE# 8—B
* 11 12 13 14 15
[ 13-14 3—FR] |5V —A|{TEHI ST |FstERB—B| Aoy —C|Bisasks57| /R g 45z
*1|257)L—A 0-3 0-3 2-3 1-3 4 )
12178957 3-0 1-3 3-0 3-0 7 2
13| JFSHEN 22—B 3-0 3-1 3-1 3-2 8 1
14| A7 —C 3-2 0-3 1-3 2-3 9] 4
15| 8T 2Tk U5 3-1 0-3 2-3 3-2 6 3
BF4ER D Zh J\iB/NPTA—B
* 1 2 3 4 5
[ 15:16 3—F]|/\BIPTA—B|$7iESST—D|REYFT—B|JoHVRA—B| BRRE 7R N sz
*1|J\iB/NPTA—B 3-1 3-0 3-1 3-0 8 1
2(#iEYST—D 1-3 2-3 3-2 3-0 6 3
3jREV>T—B 0-3 3-2 1-3 3-0 6 4
al') 9 A—B 1-3 2-3 3-1 3-1 6 2
5| Bk RE 0-3 0-3 0-3 1-3 4 )




£ 3

(=2

~

©

* 11

—_
N

S

* 16

BFa5} @ B NAKAYAMA—A

* 6 7 8 9 10
[ 17-18 3—F] | xBn25—r-8|FHOT )| HES V5T NAKAYAMA—A| THINK—B| | /R N sz
KHEHA45—K—B 0-3 3-0 0-3 2-3 S 4
TIOTII» 3-0 3-0 1-3 3-2 7 2
hEHIST 0-3 0-3 0-3 1-3 4 5
NAKAYAMA—A|  3-0 3-1 3-0 3-1 8 1
THINK—B 3-2 2-3 3-1 1-3 6 3
BF4EB ©) &8 7—hLRE VKL —B

* 11 12 13 14 15
[ 19-20 O—R]|7—rvrevro—s| KBAAS—K—C| A4 —E|NAKAYAMA—B| T Il Zth—A| 855 N sz
7—hLRAEVR—B 3-1 3-0 3-2 3-1 8 1
KBHAS—K—C| 1-3 3-0 3-0 3-2 7 2
AT —E 0-3 0-3 2-3 2-3 4 5
NAKAYAMA—B| 2-3 0-3 3-2 3-0 6 3
M =h—A 1-3 2-3 3-2 0-3 5 4
BFaEp @ &5 AL —D

* 16 17 18 19
[ 21-22 O—R]|UV D R—A| A Y25 —D|xBhs5—F—d| H I Zh—B| BmM I iz
o HR—A 2-3 3-0 3-0 5 2
A —D 3-2 3-2 3-0 6 1
KBHAS—K—D| 0-3 2-3 3-0 4 3
Ml =—#h—B 0-3 0-3 0-3 3 4




*

*

*

ZF1EB @® &8 RIST—A
* 1 2 3 4
[ 23:24 a—K] |#&Y5T—A| JOYKIM |797<u>—A| TLC—A IE sz
1|#RIZT—A 3-2 3-0 3-1 1
2| JOY KM 2-3 3-1 3-1 2
3| 7o7=)—A|  0-3 1-3 3-2 3
4|TLC—A 1-3 1-3 2-3 4
ZF1EB @ BB A94Tk
*5 6 7 8
[25-26 O—K]| X420k | ZBE |$EY57—B| JFSHEFIE N 45z
5| R 1Tk 3-1 3-0 3-1 1
EY= 1-3 3-1 1-3 3
1\#iEY57—B 0-3 1-3 1-3 4
8| JFSHEFT 22 1-3 3-1 3-1 2
TF2H ® &8 BEK
*1 2 3 4
[27:-28 a—F]| BEK |FRZES—A ﬁfﬁ? )P ZA—A IIE i
1| &EA 3-0 3-0 3-0 1
2/FRES—A 0-3 2-3 3-1 3
3IREITT—A 0-3 3-2 3-2 2
49 RX—A 0-3 1-3 2-3 4




£ 3

£ 3

%

ZF288 @ & AT —A
*5 6 7 8
[ 29-30 a—F] | Av> T —A|{TEEI ST |/\BBIPTA|HIIZR—A| /R IE 4
S| AT —A 3-0 3-0 3-0 6 1
6|fTIEY ST 0-3 2-3 0-3 3 4
71J\B&/NPTA 0-3 3-2 3-1 5 2
gl —#H—A| 0-3 3-0 1-3 4 3
ZF 3 @ & 99)—94957
ull 2 3 4
[ 31-32 a—K] |9U—5957 |7o7=<uv—8| THINK |#7LRHI|  #B& I 2
1Wo\U—9927 3-1 3-0 3-0 6 1
2l7HO7)—B| 1-3 3-2 3-1 5 2
3| THINK 0-3 2-3 1-3 3 4
NWATFOAmNI| 0-3 1-3 3-1 4 3
ZF3HR @ Ity NAKAYAMA
E_KEE %5 6 7 8
[1-23—F] |NAKAYAMA| 25%7)L | TLC—B |#f¥>5—B| #HR 1Y
5|NAKAYAMA 3-1 3-0 3-0 6 1
6|23 1-3 2-3 3-0 4 3
7|TLC—B 0-3 3-2 3-0 ) 2
8| A5 —B 0-3 0-3 0-3 3 4




* 1

N

w

S

%

1

~

o]

3B ©) &5 FSC

E_HAEE %9 10 11 12
[3:4a3—F] |[BRRE—A|EASRV%—| FSC |7—tizevte| /A :Fod
KRE—A 0-3 0-3 1-3 3 4
RARIAUE— 3-0 1-3 3-0 ) 2
FSC 3-0 3-1 3-0 1
F—hLREVHKRY | 3-1 0-3 0-3 4 3
ZF4ED @ &8 OTC-A

E_KEE *1 2 3 4
[5:63—K] | OTC-A |fI=s—B|EkR&E—C|TAVHL| BN IE £z
OTC-A 3-0 3-0 3-1 6 1
M) =$—B 0-3 2-3 0-3 3 4
BkR&=—C 0-3 3-2 0-3 4 3
Joyvy L 1-3 3-0 3-0 ) 2
TFAED @ & FR&KL—B

E_KEE %5 6 7 8
[7:83—K] | F(FAIL |FRE2—-8| TLC-D |[U>9X—B| #BA 44
FEAE 2-3 3-0 3-0 ) 2
FRE=—B 3-2 3-1 3-1 6 1
TLC-D 0-3 1-3 0-3 3 4
)Y ZX—B 0-3 1-3 3-0 4 3




TFA4ED ©) &5 2%557
E_KEE %9 10 11 12
[9:-10 3—F] |EEHST|AxBH+5—F| OTC—B |gasus57| BA I 52
x| EXY 5T 3-0 3-2 3-0 6 1
10| KEFHAT—F 0-3 1-3 1-3 3 4
11|0TC—B 2-3 3-1 3-0 3] 2
12|EREKIST 0-3 3-1 0-3 4 3
ZF4EB @ &= A&EI57—8
E_KEE %13 14 15 16
[11-12 3—K] |#&E557-B| TLC-C |BRREL—B|®fEsx%s57| #/BR I 2
*13|BZ Y57 —B 3-0 3-0 3-1 6 1
14|TLC-C 0-3 3-0 0-3 4 3
153k R &—B 0-3 0-3 0-3 3 4
16|#ERTE 2KV 5T 1-3 3-0 3-0 ) 2




